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Plot (x,vVy)
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>> X = =2*%pi:1/100:2*pi;
>> y = sin(x);
plot(x,vVy)

grid on
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>> x = -10%pi:1/100:10%pi;
>> y = sin(x)./x;
plot (x,vy)

grid on

Y = m.wj.? (-107[,1072') S o)'Lg BE) b &M«M CU J‘J‘)A.; Q‘)}:"“" d‘i‘

555 eslinal a5l Shae 5l 3 il e 5 0155 000 Slikos sl &

>> X = -2*pi:1/100:2*pi;

>> vyl = sin (x);
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>> y2 = cos(x);
>> y3 = sin(x)+cos(x);
plot(t,y,t,y2,t,y3)

grid on
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mesh (x,y, z)
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>> [X,Y] = meshgrid([-3*pi:0.2:3*pi]);
>> 7 = sin(sqgrt(X.”2 + Y."2))./sgrt(X.”2 + Y."2);

>> mesh (X,Y, 2)

J\-S&V.MNJS (_372',372') L§°).L.’)> 643.:4..»&@)5 ‘)&MCUJ‘J}M CJ‘)}L&J Lﬁ’“



WWW.avr.ir - 4- Matlab 3 1

S p iy T m2T<X <27 (s 63k 3 1 1B s ezZsurf gV

(Z:x2+y2)\>).q.2 ('“*’“JS) Jle

>> syms X Y

>> ezsurf (x"2+y"2)
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1. y=sin(In(x))

2 . y=arctan(x)+ arcsin(x)
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3. = arccos
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